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HESS’S LAW 2 — USING AH.

Answer copy

@
1) Calculate the enthalpy change for this reaction given the following enthalpies of combustion.
-75 kjmol
C(s) + 2 Hz(g) — CHa(g)
AH| ;2 C(s) -393; Hai(g) -286; CHa(g) -890 kJ mol
2) Calculate the enthalpy of formation of ethanol (C2HsOH) given the following enthalpies of combustion.

-273kjmol”
AH ¢ C(s) -393; Ha(g) -286; CoHsOH(l) -1371 kJ mol "

3) Calculate the enthalpy of combustion of propane (CsHs) given the following enthalpy changes.
-2220 kjmol

AH ¢ C(s) -393; Ha(g) -286 kJ mol’,  AHl;: CaHa(l) -103 kJ mol™

4) Calculate the enthalpy of combustion of CS(I) given the following enthalpy changes.
-1075 Kjmol™

AH ¢: C(s) -393; S(s) -297 kdJmol",  AHl: CSy(l) +88 kJ mol”’

5) Calculate the enthalpy change for the following reaction using the enthalpies of combustion given.
+2 kjmol™

C(graphite) — C{diamond)
AHlc: C(graphite) -393; C(diamond) -395 kJ mol”

6) Calculate the enthalpy change during the fermentation of glucose using the enthalpies of combustion given.
-84Kkjmol

CsH1206(s) — 2 C2HsOH(l) + 2 CO4(g)
AH| ¢: CeH1206(s) -2820; CoHsOH(I) -1368 kJ mol”

7) Calculate the enthalpy of formation of pentane, CsHizy), given the following enthalpies of combustion.
-172 kjmol™

AH ¢ : Ha(g) -286; C(s) -393; CsHix(l) -3509 kJ mol™

8) Calculate the enthalpy of combustion of propanone, CHaCOCHj5(1), given the information below.
-1820kjmol

AHl¢: Ha(g) -286; C(s) -393  AHl{: CHsCOCHs(l) -217 kJ mol”

9) Calculate the standard enthalpy change for the following reaction using the enthalpy changes given.
-235kjmol

S0(g) + 2 HaS(g) — 3 S(s) + 2 H20(l)
AH ¢ S(s) -297 kJmol” AH®: Ho0(l) -286; H1S(g) -20 kJ mol™
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